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« Please check that this question paper contains 11 printed pages.

« Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

» Please check that this question paper contains 30 questions. .

« Please write down the Serial Number of the question before attempting it.

« 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
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General Instructions :

(i)  All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, four questions of 3 marks
each and three questions of 4 marks each. You have to attempt only ene of the
alternative in all such questions.

(v)  Use of calculator is not permitted.
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Question numbers 1 to 6 carry | mark each.

1. U g9 REs %3 (-2, 2) 8, 1 U o6 AB R | 3ft g B & fdwn= (3.4) &, @
frg A o fadanes qma hiferg |

Find the coordinates of a point A, where AB is a diameter of the circle with
centre (-2, 2) and B is the point with coordinates (3, 4).

2. 2 @1 3 F e Ra v ie @ g it |
Find a rational number between \/E and ﬁ .

3. a’rﬁﬁﬁ%ﬂmﬁaﬁw%?

How many two digits numbers are divisible by 3 7

4. Af tan 2A = cot (A —24°) B, & A %1 °F Fd AT |
AT
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(sin 33°+sin’ 57°) 1 WA F1d HIFoC |
Find A if tan 2A = cot (A —24°)
Or

Find the value of (sin?33°+sin? 57°)

5. k% P e 3 fore weEET 22 + 4y +k = 0 o e ATediesh g ¢
Jtegar
k1 T T i s R wEn 32 —10x+k =0 F T Th-g F
gl & |

For what values of k, the roots of the equation x*+4x+k=0 are real?
Or

Find the value of k for which the roots of the equation 3x2—10x+k =0 are
reciprocal of each other.

6. @mfd 1 °, DE||BC, AD = 1 Tuft a97 BD = 2 @i & | (A ABC) @1 (A ADE)
% &rahe! 1 T ST @ ¢

A |
D E
i
B C
3T 1
In Fig. 1, DE||BC, AD = 1 cm and BD = 2 ¢m. What is the ratio of the
ar (A ABC) to the ar (A ADE) ?
A
| D E
B C
Fig. 1
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=
30/1/2 3 [P.T.O



e -a
SECTION -B
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Question numbers 7 to 12 carry 2 marks each.

7. k1 HHE F1d I 7fE vl S 2x+3y =7, (k+D)x+2k-1)y =4k +1
% 19l &9 & 35 ver ¥ |
Find the value of & for which the following pair of linear equations have
infinitely many solutions. 2x +3y=T7, (k+D)x+(2k- Dy=4k+1

8. U U H U AN IS T (i) UF 19T G M Y (ii) 2 79T 6 F A=
1w % 1 Y, sifrar s i |
A die is thrown once. Find the probability of getting a number which (1)is a
prime number (ii) lies between 2 and 6.

9. fagat (1, - 3) qun (4, 5) 1 FEW aen Yawave, x-3e g fr e
ferifore gar 2, & 1 AT | x-3187 % 5 filg F Frarias oft 7 |
Find the ratio in which the segment joining the points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.

10. @@aﬁwm%ﬁaﬁ@aﬁmmm%mmmmm%@
fora e 2 wﬁmﬁmwaﬁﬁaﬂamma@amﬁﬁmﬁw
1 i | |
A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

1. WA 3,15, 27,39, . %1 W19 6% 213 72 120 A R 7

' ateraT
afe Tk G A oy wd w7 Sps Sy =3n* —4n T e B, W zHE
nell 92 T fer |
Which term of the AP 3, 15, 27, 39, ... will be 120 more than its 21st term ?
Or
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If S,,,the sum of first n terms of an AP is given by S, = 3n? —4n, find the nth

term.

12. gfFers Uefen % TAM @ 1260 TUT 7344 F AN @A (HCF) 16
Fifee |
HUAT
auifzn fiF g faw vAquilsh (4g+1) FUET (49 +3) F &9 F &1 2, SE g
13 qUTeh % |

Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4¢ +1) or (4g +3), where

g 18 some integer.
g - |
SECTION -C
T EEAT 13 § 22 T Fed WA 3 HFH H 2 |
Question numbers 13 to 22 carry 3 marks each.

13. o SiETT s %1 e 53 8, k 1 A 19 B |

an 0-20 20-40 40-60 60-80 80-100
eIl 12 15 32 k 13

The arithmetic mean of the following frequency distribution is 53. Find the
value of k.

Class 0-20 20-40 40-60 60-80 80-100
Frequency 12 15 32 k 13

14, 3 2 #, gwiv 10 g @e %1 &A% J1d HIfC, afe g9 Al Brean 21 @ R qorr
Z AOB = 120°% | [n=¥?ﬁﬁm)
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Find the area of the segment shown in Fig. 2, if radius of the circle is 21 em

and 2/ AOB = 120° (Use b1 =%J

A AT B

Fig. 2

15. @i 34, £ ACB =90° @91 CD L AB®, firg 1R % CD? = BDXAD .

C

D

I 3

areran
afe P aul Q HHW: A ABC # e CA @1 CB w oo fig & aem ~ C
w2, A1 g AR 6 (AQ? +BP?) = (AB? + PQ?)
In Fig. 3, Z ACB =90° and CD L AB, prove that CD? = BDx AD.

C

B
A D

Fig. 3
f Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C, prove that (AQ? + BP?) = (AB2 + PQ?)

30/1/2 6




16.

17.

8.

19,

20.

ATl 4 #, T A ABC, ol y=id BC = 8 @, A
AB = 10 ¥t @ AC = 12 ¥t &, & eiarid b 99

e T 2 | BL, CM @91 AN &l dadl I sl e A
N M
B
L
g Ty
_ 3:{|$|?I 4
In Fig. 4, a circle is inscribed in a A ABC having sides A

BC = 8 cm, AB = 10 cm and AC = 12 cm. Find the
lengths BL, CM and AN.

10 em 12 ¢m
N M
B T C
8 cm
Fig. 4

6 T =S 3 1.5 H e wE AW § T 10 B /v f we @ 7 w0
30 fie #, 78 Tt fha gwat i e w0 oo, SefE fE & fag 8w
ML qTH = SATaTEehd el © |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water
is needed ?

forg il B 2 T STafoE dE R |

Prove that \E is an irrational number.

afe TgUR X%~ (k +6)x+2(2k - 1) & YA S AN 3% UHEE 1 I R, Al
k %1 AT T =R |

Find the value of & such that the polynomial x? = (k+6)x+2(2k—1) has sum
of its'zeros equal to half of their product.

y-31% 1 978 Taig 1 Shitore it figaat (5, —2) o (-3, 2) & gHgwE B |
Frurat
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21.

22.

fagatt A(2, 1) e B(S, -8) &1 e aren temave fagati paen Q W anfirfia
a1 @ afe P fag A % ez 81 3R P, 20— y+ 4 =0 g0 vaw Yan W oft fr
2, @ k%1 uH I1a Ay

Find the point on y-axis which is equidistant from the points (5, —2) and
(-3, 2).
Or

The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k =0, find the value of k.

ue fire Y 3 219 &t Al Y S1g % A0 F A H EHE R | S A % g
St o S B T % A F S e e | e A A s T
Il

FHYGT
e i - 21 T 2, o 3w o 2 e S 8, i A £ A T ¥, 9w
T8 1 uern A | g i gra fife

A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

. i . .
A fraction becomes 3 when 2 is subtracted from the numerator and it

1 . . . .
becomes 5 when 1 is subtracted from the denominator. Find the fraction.

forg Fifsa 5 (sin 0+ cosec 0)2 + (cosO+sec0)? = 7+ tan® 0+ cot? 0.
HYUa

g il (1+cotA—cosecA)(I+tan A+secA)=2

Prove that (sin 0+ cosec )% + (cos 0 +sec0)? = 7+ tan” 6+ cot’ 0.

Or
Prove that (I+cot A —cosecA)(1+tan A +secA) =2

30/1/2 8
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SECTION - D

TYH WEAT 23 ¥ 30 T YT YT 4 I 12 |
Question numbers 23 to 30 carry 4 marks each.

23.

24,

25.

26.

30/1/2 9 [P.

%@aﬁf%m tan” A + cosecA 1

tan’ A—1 sec? A —cosecA - 1-2cos? A
tan® A cosec’A _ 1
tan? A—1 sec? A —cosec’A 1-2cos A

Prove that

TS T A 1 yUW 9 3, 3fon e 83 qet 39 i 98] 1 AThe 903 B | 39
T 2t & el 1 A YT Graeial 1d i |

The first term of an AP is 3, the last term is 83 and the sum of all its terms is
903. Find the number of terms and the common difference of the AP.

uF e ABC i @A #ifse el gen BC = 6 @i, £ B = 45° aun
Z A =105, 99 T 3 s i = i S g9 A ABC i @

q=Tiati % T & |
Construct a triangle ABC with side BC =6 cm, Z B =45°, £ A = 105° Then
construct another triangle whose sides are 3 times the corresponding sides of

4
the A ABC.

Ife i SR sed &1 WeTs 32.5 B Al £, 99 £, % °H 7@ i |

i 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | wT
ERAT : A 5 9 12 5 3 2 40
Frgan

s e 1 100 Rt gw urdies 9 R E

TR | faeteE shi gt
0-5 2
5-10 5
10-15 6
15-20 8
20-25 10
25-30 25
30-35 20
35-40 18
40-45 4
45-50 2
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28.

0-5 2

5-10 5
10-15 6
15-20 8
20-25 10
[ 2530 25
30-35 | 20
35-40 18
40-45 4
45-50 2
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29.

30.

3 g % T T T U 3 l-g- 27 & oK TR B | 92 =T arell Tl 3% H

mﬂﬁ,mmm@mﬁzdﬁmmm%lmmmm%hﬁ

W T 97 714 HiNT |
Irerat

T TE 10 52 ur ¥ wfieger 30 Frdt qon g % e 44 Bl Sl 1013
53 7 57 40 Bt T % wiiget Td 55 fRf g % SrEe S § | SR A
o7 =74 31 TR Siet | =1eT 1 shifeig |

Two water taps together can fill a tank in l% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

100 it 33 T @S2 E13E & g U AT I & Sl gavl S 2 e H g T
3 Rirat ¥ T9 0 A 60° F 30° T ga uren @ | et wfa e 7 A i
= 3 iR | [ V3 =1.732 wfifse

et

o 80 1t T T F AT SR AT AT FHA Fed A1 A T T GLR N
2wt % e e u fag & w3 Rt % I 0 H: 60° 3T 30°
3 | @i 6 e s @ fiig 1 30 T A

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.
Find the speed of the boat in metres per minute. [Usc B=1 .732]

b Or

Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the

angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.
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